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1. The nitrifying bacteria are –

A. Autotrophs

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9FSNJO8Mp5Ez


B. Heterotrophs

C. Chemoautotrophs

D. Chemoheterotrophs

Answer:

Watch Video Solution

2. The process of conversion of nitrogen into

nitrites and nitrates is called –

A. Combustion

https://dl.doubtnut.com/l/_9FSNJO8Mp5Ez
https://dl.doubtnut.com/l/_tmnZZQN2EMpu


B. Nitrogen assimilation

C. Nitrogen fixation

D. Nitrogen usage

Answer:

Watch Video Solution

3. Carbon cycle occurs through –

A. Atmosphere, ocean and living and dead

organisms

https://dl.doubtnut.com/l/_tmnZZQN2EMpu
https://dl.doubtnut.com/l/_7XcVhZrWk4Wc


B. Living and dead organisms

C. Atmosphere and living and dead

organisms

D. Atmosphere and dead organisms

Answer:

Watch Video Solution

4. The cycling of nutrients in an ecosystem is

called –

https://dl.doubtnut.com/l/_7XcVhZrWk4Wc
https://dl.doubtnut.com/l/_NP6AkcSuu6J9


A. Geological cycle

B. Geochemical cycle

C. Bio geochemical cycle

D. Chemical cycle

Answer:

Watch Video Solution

5. Small gaseous component in

biogeochemical cycles, atmosphere has a

negligible phase?

https://dl.doubtnut.com/l/_NP6AkcSuu6J9
https://dl.doubtnut.com/l/_Gbzn4eEG2xSL


A. Phosphorous

B. Nitrogen

C. Carbon

D. Sulphur

Answer:

Watch Video Solution

6. In which of the following biogeochemical

cycle atmosphere has a negligible phase?

https://dl.doubtnut.com/l/_Gbzn4eEG2xSL
https://dl.doubtnut.com/l/_MVZfDk4nJanb


A. Nitrogen

B. Sulphur

C. Water

D. Phosphorous

Answer:

Watch Video Solution

7. Nitrates are converted to nitrogen by a

process of –

https://dl.doubtnut.com/l/_MVZfDk4nJanb
https://dl.doubtnut.com/l/_4ELZTBblZEHC


A. A. Denitrification

B. B. Nitrification

C. C. Ammonification

D. D. Nitrate formation

Answer:

Watch Video Solution

8. Ammonia is converted to nitrite by a

bacteria called –

https://dl.doubtnut.com/l/_4ELZTBblZEHC
https://dl.doubtnut.com/l/_NjghG91cHAg8


A. a. Thiobacillus

B. b. Nitrobacter

C. c. Nitrosomaonas

D. d. Pseudomonas

Answer:

Watch Video Solution

9. Decomposition of organic nitrogen in dead

plants and animals into ammonia is called –

https://dl.doubtnut.com/l/_NjghG91cHAg8
https://dl.doubtnut.com/l/_cysIiJ55pFMY


A. A. Denitrification

B. B. Nitrification

C. C. Ammonification

D. D. Combustion

Answer:

Watch Video Solution

10. The presence of nitrogen in the

atmosphere is maintained due to –

https://dl.doubtnut.com/l/_cysIiJ55pFMY
https://dl.doubtnut.com/l/_dGJOTfxiFBjV


A. A. Nitrogen cycle

B. B. Decomposers

C. C. Ammonia

D. D. Oxygen

Answer:

Watch Video Solution

11. Plants lose water and contribute to water

cycle by –

https://dl.doubtnut.com/l/_dGJOTfxiFBjV
https://dl.doubtnut.com/l/_pwgF8gS17V3N


A. a. Combustion

B. b. Photosynthesis

C. c. Transpiration

D. d. Evaporation

Answer:

Watch Video Solution

12. The cycle of evaporation and condensation

of water is called -

https://dl.doubtnut.com/l/_pwgF8gS17V3N
https://dl.doubtnut.com/l/_lmwf7xpHuYSG


A. A. Carbon cycle

B. B. Hydrological cycle

C. C. Nitrogen cycle

D. D. Sulphur cycle

Answer:

Watch Video Solution

13. Ozone is the molecule containing –

A. A. 3 atoms of oxygen

https://dl.doubtnut.com/l/_lmwf7xpHuYSG
https://dl.doubtnut.com/l/_6AhWByve8zjI


B. B. 2 atoms of oxygen

C. C. 4 atoms of oxygen

D. D. 1 atom of oxygen

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6AhWByve8zjI

